Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - 4 « EXAMINATION - WINTER - 2017

Subject Code: 3341105 Date: 15-11-2017
Subject Name: Industrial Electronics
Time: 02:30 pm to 05:00 pm Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ellol WML, 14
State the four technical specification of SCR.
SCRoll UR 2sollsct A 2((3F2tet W
State four applications of UJT.

UJT.oll AR Grloll aeldl.

Define the holding current and the latching current of an SCR.
BBl wal Aol s22 ofl cautvaul wWW.
State four applications of poly-phase rectifier.
WAl 3825 2s2L512AR oll AR Graol clal,
Give requirement of Timing circuits.

21421 Risesil s RAULd Uil

What is SYNCHROS.?

sl Aed 9 ?

What is UPS ? State its types.

UPS g 8 ? Aoll UslRell olld UL

Give the pinouts block diagram of IC 555.

IC 555 ol Ulot alell scAlls LA ENRL.
Draw the symbol of: (a) IGBT (b) Opto-Triac.
() IGBT (&) ) Opto-Triac oll Rl €RL.
What is PLC?

PLC 2@ ¢ ?

© 00 6 N o LU AW AADN PR

o
oo &

Q.2 (@ Explain Forced Commutation of SCR and state it types. 03
s () S shRalet AMedl Al Aell (AU ysiR cwldl. 03

OR
(@) State Four applications of SCR. 03

() SCR oil AR GUAN cBldl. 03

(b) State advantages of opto-isolator. 03

() ;2L USAARR ol slAEB Rl 03
OR
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Explain construction of TRIAC.

TRIAC of oltlRQl Hesal.

Explain working of SCR with the help of two transistor analogy with diagram
A 2l AollAl ol Heedl SCR of s121 AU

OR
Draw and explain relaxation oscillator using UJT.

UJT AAsAret w2 A2R ofl vugl 131 Amesall.
Write short note on : Static Switch

28 ol cAul : R3ls [

OR
Explain with diagram class C type of force commutation method.

215U C 514 51¥422 <Al UslR vligdl 212l “axomdl.

Draw the circuit of controlling AC load using one triac and one diac.
As 2lAs Wl As s1As ol HeEUl AC AS Soplet Ul UMt

OR
Draw circuit diagram and waveform of single phase half control rectifier with
RL load.

Aol 323 8ls soglet RL AlS R8ELs120R ofl gl €131 Al

Explain photo relay circuit using LDR in which relay operates when the
light beam is interrupted.
LDR clge vllures sl A cdlgfe Al sl s A usle

AHesL Al

OR
Explain solid state relay for higher current using opto-triac.

AU 21As ofl Heedl ol s22 Aclls @2 RA ol utdl AxsAl

State the advantages of poly-phase rectifier over single phase rectifier.

WAl 3825 22L512UR ol $LAEA B
OR
State the applications of poly-phase rectifiers.

Wl 852 252151212 oll GUNN (Al
Explain the working of 3 phase full wave rectifier with diagram.
3-38% geat Ao sELgAR ofl gl 31 Aof sl uHAAl

OR
What is chopper? Classify it. Give its applications

AUR g B2Ae] cdl520L 52 Aot GUADN AW

Explain the working principle of induction heating.
85520l SlElaL oll Rt Ul umescl.

OR
List the applications of dielectric heating.

sl 8Alses SlEloL olt G0 crlal.
Draw the circuit of DC timer using transistor and explain its working.
DC timer 2lodt®eR ol Uiyl 131 Aoj stal AxxstAl
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Q.5
sl Y

OR
Compare induction heating and dielectric heating.

8559t SlEloL U sief sAlses 2oL ol urudl v

Draw the circuit and explain the working of a parallel inverter using SCRs.

SCR WRAA BaeR ofl wgcl €131 ol stal utdl Axestal.

Draw and explain the circuit to control speed of a DC series motor.
DC A3l Her ol adls sl ofl utucdl AxesA.

Write short note on : Single phase Cyclo-converter.

28 ol Al : oA 328 WRASA SoclR2R.

Write the applications of Programmable Logic Control (PLC).
PLC oil GLAN aglal.

Draw the circuit of class B type chopper and explain its working.
sl B AURL ol gl €131 A sl utdl Axesall.
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